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Texte : Des nuages a la mer

Depuis qu'elle est apparue sur Terre, il y a quelque 4 milliards d'années, la quantité
d'eau n'a pas changé. C'est en effet toujours la méme eau qui se transforme et circule en
permanence entre les différents réservoirs de notre planéte : on parle du cycle de ['eau.

C'est ainsi que l'eau des précipitations (pluie, neige, gréle) alimente les petits
ruisseaux qui grossissent en riviéres, puis se jettent dans les fleuves. Elle s'infiltre
également dans le sol lorsque les roches sont suffisamment perméables, alimentant les
nappes d'eau souterraines. Une fois dans le sol, l'eau a I'état liquide est puisée par les
racines des végétaux. Elle circule dans la plante et est rejetée par les feuilles sous forme de
vapeur d'eau : c'est |'évapotranspiration.

Les eaux de surface (ruisseaux et riviéres) et les eaux profondes des nappes finissent
par retourner dans les océans ou les mers. L'eau des lacs, des mers et des océans s'évapore

et se condense en formant des nuages qui donneront naissance a la pluie et a la neige. Le
cycle peut alors recommencer.

Encyclopédie Encarta
QUESTIONS
I- Compréhension de I’écrit : (13 points)
|- Le theme de ce texte est :
-I’eau durobinet  -lecycledel'eau - I’apparition de I'eau sur terre

Recopie la bonne réponse.

2- Recopie chaque phrase et indique VRAI ou FAUX :
- Les eaux de surfaces retournent & la mer.,
- La quantité d’eau de la terre a beaucoup diminue.
- L’eau s’infiltre dans les roches imperméables.
- Les plantes rejettent |’eau par leurs feuilles.

3- Reléve quatre mots constituant le champ lexical de : eau.
4- Quelle est la définition donnée au mot « évapotranspiration » par le texte 7

5- « Elle s'infiltre également dans le sol lorsque les roches sont suffisamment perméables.»
a- La phrase ci-dessus exprime un rapport logique :
- d’opposition - de condition - de temps
b- Réécris la proposition subordonnée conjonctive en remplagant la conjonction de
subordination par la locution qui convient :

- pour que - quand - si bien que

2.1 inis



6- Quel est le temps dominant dans ce texte 7

7- « Elle s'infiltre également dans le sol lorsque les roches sont suffisamment perméables.»
Réécris la phrase en employant le futur simple de I'indicatif.

8- Ce texte est:
- une argumentation
- une narration
- une explication

I1I- Production écrite : (07 points)

Tu sais que 1’eau donne la vie et tu I'utilises quotidiennement. Pourtant, beaucoup
de gens la gaspillent et la polluent. Alors, tu décides d’écrire un texte d’une dizaine de
lignes (10) pour les sensibiliser sur son importance et I'utilité qu'il y a & la préserver.

e Dans ce texte tu leur expliqueras comment 1’eau peut donner la vie et quelles
sont les conséquences de sa pollution sur la vie de I’homme.

2 p2inds
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I. COMPREHENSION DE L'ECRIT : ( 13 points )
1. le théme est : Le cycle de I'cau

2. vrai ou faux

- Les eaux de surface retournent a la mer.

(vrai)

- La quantité d’cau de la terre a beaucoup diminué. (faux)

- L’eau s’infiltre dans les roches imperméables.
- les plantes rejettent I'cau par les feuilles.

(faux)
(vrai)

3. champ lexical du mot :eau (quatre mots)

- pluie, neige, gréle, ruisseaux, riviéres, fleuves, océan, mers, lacs, nuage
4. évapotranspiration : 1'cau est rejetée par les feuilles sous formes de vapeur d'cau.
5. a. Le rapport exprim¢ est un rapport de temps.

b. Elle s'infiltre également dans le sol quand les roches sont suffisamment

perméables.

6. Le temps dominant est : le présent de I'indicatif.
7. Elle s’infiltrera également dans le sol lorsque les roches seront suffisamment

perméables.

8. ce texte est : une explication.

IL. PRODUCTION ECRITE : (07 points)

Critéres

Indicateurs

Adéquation a la consigne

Sadad) oy 13 gadl oY)

- Production d’un texte argumentatif
- utilisation d’arguments relatifs 4 I'utilité et d la
préservation de I'eau

Cohérence du texte

- pertinence des idées
- absence de contradiction et enchainement correct
des idées.

- utilisation appropriée des connecteurs logiques

Correction de la langue

- utilisation correcte des temps et modes verbaux
- respect des régles d’accords

Perfectionnement

- mise en page et lisibilité
- richesse et originalité du vocabulaire

01 /01 inie
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Hi,

I went to Rome last August with my friend Peter. We flew to Rome with British
Airways.

We stayed for a week in a small hotel near the Colosseum. The hotel was nice and
quite cheap.

During the day we walked around the city. We saw all the famous places like the
Colosseum and St Peter’s, and we threw a coin in the Trevi Fountain. We took a lot of
photos. At night we went to restaurants and had fantastic pasta.

Our favourite restaurant was in the Piazza Navona. We bought a painting of
Trastevere (the old town) and Peter bought some presents for his family.

We had a great time. Rome is full of history and has a special atmosphere, and

Italian food 1s wonderful. We only had two problems: it was very hot, and it was very
difficult to cross the road.

What about you? Did you go somewhere?
Hope to hear from you very soon,
Steve
Adapted from “New English File”

C. Oxenden - C, Latham-Koenig- P. Seligson
PARTONE (14 pts)

A/ Reading Comprehension (07pts)
Read the text carefully and do the following activities:

Activity One (02pts) : Answer the following questions :
1- Did Steve and Peter stay at a friend's house?

2- Did they enjoy themselves in Rome?

Activity Two (03pts) : Read the following statements and write * true’, ‘false’,
or ‘not mentioned’ .
1- Steve and Peter travelled by plane.
2- They didn't have time to visit all the well known places.
3- They had their meals at the Trattoria Romana restaurant.

Activity Three (02pts): Match the words in column A with their equivalents in
column B.

A B
- cheap - wonderful
- famous - hard
- fantastic - inexpensive
- difficult - well known

21 inis



B/ Mastery of Language (07pts)

Activity One (02pts) : Spot the mistakes and write the corrected passage on your
answer sheet.

Last July, I spend my holidays at Bejaia. It is an lovely seaside resort. Bejaia
has beautiful beachs.

Activity Two (03pts) : Write the correct form of the verbs in brackets.

Last March [ was on holiday. The first week I (to stay) at home and (to do)

all my homework. The second week I (to go) to my grandparents’, who live on
a farm.

Activity Three (02pts) : In each list, pick out the word with a different vowel sound.

a) same - day - was - place
b) walk - stay - saw - all
c) ike - time - nice - with
d) far - had - and - at

PART TWO Written Expression ( 06pts)

You received a letter from your friend. She/He told you about her/his
holidays. She/He would like to know how you spent your holidays.

Write her/him a letter. Tell her/him what you did.

Write about:

- the place you went to (abroad / another town / or stayed at home)
- what you did (your activities during the holidays)
- your feelings

DO _NOT_SIGN_YOUR NAME

2.2 inie
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PART ONE (14pts)

A/ Reading Comprehension (07pts)
Activi ne

1/ No. / (No,) they (Steve and Peter) didn't. / (No,) they (Steve and
o1pt | Peter) didn't stay at a friend's house. / (No,) they (Steve and Peter) stayed
in a (small) hotel (near the Colosseum). / (No,) not at a friend’s house (but
in a (small) hotel). / (No,) in a hotel.

Note : If a candidate writes :
- “They stayed for a week in a small hotel near the Colosseum.”

02pt
o give Ipt
- “They stayed for a week.......... quite cheap.”  give 0.5pt
- "We stayed......c.covannnnnnannaquite cheap.”  give 0.5pt

01pt 2 /Yes. / (Yes,) they did. / (Yes,) they enjoyed themselves (in Rome/
there)./ (Yes,) they had a great (very good) time (in Rome/there).
Note : if a candidate writes ‘We had a great time." give 0.5pt

Activity Two

01pt 1/ True

o3pts | Olpt | 2/False

Olpt | 3 /Not Mentioned

Note : - Accept Yes / Correct / Right instead of True.
- Accept No/Incorrect/ Wrong instead of False.

Note : DO NOT ACCEPT
1) - if the answer is written in Arabic or French.
2) - a tick for *True’ or a cross for ‘False’.

Activity Three :

cheap inexpensive
02pts | 0-Spt famous well known
x4 fantastic wonderful
difficult hard

3oel dada
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B / Mastery of Language (07pts)

Activity One :
02pts | 0.5pt Last July, I spent my holidays in Bejaia. It is a lovely seaside resort.

x 4 Bejaia has beautiful beaches.

Activity Two :

03pts | 01pt Last March, I was on holiday. The first week I stayed at home and did all

x 3 | my homework. The second week I went to my grandparents’, who live on
a farm.

Note : If a candidate writes only the verbs, mark the activity.

Activity Three :

a/ was

0.5pt | b/stay

0Zpts 15 ¢ / with
d/ far

3 a2 daia
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06pts

PART TWO . Written Expression.
Good

Assessment Rubric

Criteria Fair Poor
-Topic : students | - Topic: students | - Topic : very
write about what | write about what | little reference to
they did during they did during the topic (one or
their holidays . their holidays, but | two sentences)
All the ideas are | only some ideas
Relevance related to the are related to the | - Format : correct
topic. (01pt) topic (at least for incorrect
- Format : four).(0.5pt)
(2pts) correct; students | - Format :
write correct; students
a letter. (01pt) write a
letter.(0.5pt)
(02pts) (01pt) (0.5pt)
- Ideas are well - Some ideas are | - Ideas are not
organized. well organized. well organized /
- topic sentence / | - topic sentence/ | difficult to follow.
four or more no conclusion - no topic sentence
Organization supporting - no topic / no conclusion
sentences sentence/(no) - The sentences
feonclusion conclusion are not linked
- All sentences are | - two or three correctly.
(02pts) linked correctly. | supporting
sentences
- Some sentences
are linked
correctly.
(02pts) (01pt) (0.5pt)
- correct use of - correct use of - incorrect use of
past simple / past | past simple past tenses
continuous / - use of some - incorrect use of
time adverbials/ | prepositions / prepositions/
prepositions/ pronouns / pronouns/
Linguistic pronouns/ possessives possessives
Resources possessives - use of three link | - no link words
- correct use of words - vocabulary very
link words - vocabulary not | limited
(02pts) = vocabulary varied - more than 6
varied = 3 mistakes are mistakes (any
accepted. kind of mistakes)
(2pts) (1pt) (0.5pt)

NOTE : If a candidate is out of the topic, DO NOT take into
consideration( DO NOT MARK ) organization and linguistic
resources. MARK the format only.

3 a3 dada
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Adris :

Yiwen n wass qqimen yirgazen deg tejmact, awal yettawi-d wayed armi d-wwden yer
temsalt n waman.

Yiwen ad yini : Aseggas-a llan waman |
Wayed ad yini : D timezliwt nezla, acessas n tala yedda-ay-d di lebyi !
Inteq urgaz yekkan yal tamurt yenna-as :
- Aman n taddart-nney d waman n tudrin i as-d-izzin, nekk zriy ansi i d-usan. Usan-d seg yiwet

n tala qqaren-as Tala-Ufella -Timgergert. Syin akk i d-ttfeggiden waman yellan di tmurt-nney.
Tuget n wid yellan din bdan asnehneh.

Yiwen yenna : Ha-t-an dayen yuyal yer tidak-nni-ines, ibda-tent-id. Tebra ma zziy da.

Dya ikker, afas n medden i t-idefren, kkren ddan yid-s.

Leflani yerna deg wawal-is :

- Tura ma ur tuminem ara, krad (3) n wussan n tikli ad d-zgey dinna : ad d-rrey agercal di Tala-
Ufella-Timgergert, yerna ad ay-d-awden yer tliwa-nney anda ma llant, [...]

Sin n wusan yezga-d dinna, ismar agercal anida ilaq, yuyal-d. Tikli n waman ma&& am tin n

udar : izwar-it-id ugercal yer tala n taddart |
Emer MEZDAD, Tagrest uryu,
Ayamun, 2000, sb. 111.

Isestanen :
Tigzi n udris(06):
1- Acuyer i kkren kra segmi i d-immeslay urgaz yekkan yal tamurt ?
2-Ansi i d-usan waman n taddart-a?
3-Amek i asen-d-ibeyyen urgaz-a belli syin i d-usan?
4-Af-d deg udris anemgal n « iggra ».
5- a)-D acu-t wanaw n udris-a?
b)- Efk-as azwel.

1- Kkes-d seg udris sin n wawalen izdi yiwen n uzar.
2- Sled tafyirt-a : « Qgimen deg tejmact.»
3- Err tafyirt-a yer talya tibawayt : «ibda-tent-id».

I11- Asenfali s tira(08) :

Yewwed-d ugercal yer Tala-Ufella-Timgergert, imezday n taddart walan-t. Ini-d amek i d-yella
umeslay gar-asen d wamek iqublen argaz-nni.
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tacawit

Adris

Cra n wass qqimen yirgazen deg tejmact, awal yettawi-d awal, ald i d-wwden yer
temsalt n waman. Yict ad yini : « Aseggas-a llan waman. Wict ad yini d tayerrast i neyres
(niga zret), mala d acessas n tala (taswint ) yuguren deg rray-nney, Yenteq urgaz yezrin
timura ukkel yenna : « Aman n tedcirt-nney d waman n yigewwaren ukkel a yen-d-
iqerben ne&¢ zriy manis i d-usin. Usin-d seg cra n tala qqarin-as : « Tala-ufella-
Timgergert». Seg din i d-tragen waman yellan deg tmurt-nney.

-Yudan yellan dinni ur uminen.
- Ict yenna : « A-t-ayen iwella yer ukelleh-nes, a limin ma rniy qgimey da. Mala kkren
yudan defren-t, gguren yid-s. Argaz-inni yerni deg wawal-nnes:
(Lugga ma ur tuminem, tlata (3) n wussan n tikli ad iliy dinni ; ad grey agercal (anexxal)
deg Tala-Ufella-Timgergert ad yen-d-yawed yer talawin-nney mani llant. (...)

Sen n wussan yewwed dinni, yegra anexxal mani ilaq, iwella-d. Tikli n waman maci

am ta n udar; isebgi-t-id ugercal yer tala n ugewwar.

Emer MEZDAD
5B 111
tagrest urvua 2000
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Isestanen:
) Tigzi n udris (06) :
1-Mayef kkren tagedeit n yudan mi d-yutlay urgaz yezrin timura ukkel ?
2-Manis usin-d waman n ugewwar-aya ?
3-Mukca asen-d-ibeyen urgaz belli seg din i d-yusin waman ?
4-Matta anaw n udris-aya ? Uc-as azwel .
5- Af-d deg udris :
a) Anemgal n wawal : yessusem.
b) Awi-d iken n wawal : Tarbact
6)-1g awal-a « yewwed » di tefyirt s yer-k(m).
11) Allalen n tutlayt (06) :
1) Kkes-d seg udris :
a) Isem amalay asuf.
b) Amyag yeftin yer wurmir aherfi (imal)
2) Sled tafyirt-aya : qgimey
3) Dren tafyirt-aya yer talya tibawayt : Yenteq urgaz yezrin timura ukkel.
I11) Asenfali s tira (08) :
Tedra taluft (tamsalt) deg uxxam-nkem niy deg ugewwar-nkem: Yict ssi-kwem yexs
ad hen-yessimen besseh nehnin ur uminen. Utlay-d amek tedra taluft-ay.

T o T imie
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Jy:ﬂld 5 jaa (aman d ugercal ) i—la¥l jalic SR S
o1 | 1- Kkren kra seg mi i d-immeslay urgaz yekkan yal tamurt, I - Tigzi n udris1
acku ur t-uminen ara deg wayen i d-yeqqar. Yur-sen d tikerkas
akk.
01 | 2-Seg Talla-Ufella-Timgerger i d-usan waman n taddart-a.
3- Yuli urgaz yer Tala-Ufella-Timgergert, iger-d agercal deg
& waman, wwden-d yer tala n taddart.
4- Anemgal : iggra # izwar
06 o1
01 | 5-a)- Adris-a d ullis, deg-s adiwenni.
b) - Azwel : Anza s ugercal
06 | 01 |1-Ad d-nekkes seg udris sin n wawalen izdi yiwen uzar: II- Iferdisen n tutiayt
timezliwt / nezla
2- Tasledt n tefyirt: « Qgimen deg tejmact.»
o1 | Qqimen: amyag ifti yer yizri akked wudem wis 3 n usget
amalay.
0.5
05 | Qgim: afeggag. Tawuri-s d aseyru.
o1 | --n:amatar udamawan,d amigaw.
1 | Deg: tanzeyt.
Tejmact: isem unti asuf deg waddad amaruz, d asemmad s
9 | tenzeyt (arusrid)
3- Tiririt n tefyirt «lbda-tent-id.»yer talya tibawayt : Ur tent-
id-ibdi ara.
08| 01 - Asentel ad yili yedda d usegsi.
01 -Tafrawt zeddiget.
01 - Tira tettwafham.
01 - Tella tallunt deg tal taseddart.
01 - Tiseddarin ttbent . Ill-Asenfali s tira,
01 - Asigez .
01 - Tiktiwin zeddigit.
01 -Talya n udris n wullis
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( Anza n ugercal Ji—ay) jalic

6- Awal yewwed di tefyirt “Awwdend ussan n ikayaden”

g el | 5 gyl
I-Tigzi
I- Tigzi n udris : n udris
1-Kkren cra n yudan jamla gi yutlay urgaz yezrin
1 timura ukkel xater ur tuminen / yersen matta
yeqqar d tiserakas
2- Usin-d waman n ugewar-aya si tala ufela timjerjert.
06 1 | 3-yuli wergaz yer tala ufella timjerjert ; yegrid ugercal
1 deg waman yewwded yer tala n ugewwar.
4-Anaw n udris d ullis.
0.5 | -Azwel n udris : Anza s ugercal .
0.5 | 5- a) Anemgal n wawal yessusem # yessiwel.
0.5 b) Ikken n wawal : tarbact : tajmact
0.5
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06

0.5

0.5

11- Iferdisen n tutlayt :

1- a) Isem amalay asuf : ass, awal, acessas.
b) Amyag yeftin yer urmir aherfi : ad yini, ad iliy, ad yawed,
ad agrey..
2-Aslad : Qgimey
- vy + d amattar udmawan n wudem amezwaru asuf.
- Tawuri-nes d amigaw.
- Qqim : d afeggag n wemyag yefti deg izri
- Tawuri-nes d aseyru.
3-Aweay n tafyirt yar talya tibawit : ur qgimen-ca yergazen di
tejmact »

Il -
Asenfali
s tira

08

111) Asenfali s tira :
- Asentel ad yili yedda d usegsi.
- Tafrawt zeddiget.
- Tira tettwafham.
- Tella tallunt deg tal taseddart.
- Tiseddarin ttbent.
- Asigez.
- Tiktiwin zeddigit.
- Talya n udris n wullis.
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